Using cost-effectiveness analysis to evaluate targeting strategies: the case of vitamin A supplementation [Adapted from Benjamin et al. HPP 12(1):29-37].
Given the demonstrated efficacy of vitamin A supplements in reducing childhood mortality, health officials now have to decide whether it would be more efficient to provide vitamin A supplements universally to all children 6-59 months (Program A), or to target it to high risk children. Two targeting approaches could be used: broad targeting (Program B), where the supplement is given to children suffering from mild, moderate or severe malnutrition, and narrow targeting (Program C), where the supplement is only given to children suffering from moderate or severe malnutrition.

A cost-effectiveness analysis was performed in country X to help decision-makers in their allocation decision of scarce resources. The costs of the alternative programs are measured in dollar units for the entire eligible population of children. Costs are calculated from the MoH perspective as well as from the societal perspective. The consequences of the alternative supplementation approaches are measured in terms of number of deaths averted. Costs and consequences results of the three programs are provided in the table below.
	Program
	Total Cost per year 

(MoH perspective)
	Total Cost per year (Societal perspective) 
	No. of deaths averted per year

	A: Universal
	$600,000
	$950,000
	15,000

	B: Broad targeting
	$400,000
	$1,100,000
	7,000

	C: Narrow targeting
	$450,000
	$850,000
	3,500


· Which of the three vitamin A supplementation approaches results in the lowest cost per death averted from the MoH and the societal perspectives, respectively?

· If the MoH budget available for vitamin A supplementation is of $500,000, then what would be the most cost-effective approach of vitamin A supplementation in country X?

· What is the most efficient vitamin A supplementation approach from the societal perspective?
· Discuss the potential discrepancy between decisions made from MoH perspective and those made from societal perspective.

Hint: You will need to construct the following table to help you answer some of the questions above.

	Program
	Cost
	Effectiveness
	Incremental Cost
	Incremental Effectiveness
	ICER

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


